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A HSAIEW
M SEMSIS
ol M2HS L MEBXS sS4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03.18718 S8gd==U=l 38,000
odgM=Uz= M=l XN 530,500
OsaEM=Uzl HEl XA 125,000
308 AFAIEHMSOIE 760,000 790,000 30,000
01 XN EES 760,000 790,000 230,000
OSHEILETMSUS HEl X2 (ML) 760,000
403 X SHHMSAH=01H 83,000 13,000 70,000
01 AR A= 2 & 83,000 13,000 70,000
OAlZ H=AE JIF XY S 83,000
HEXEX 2el(<) 1,568,247 1,444,606 123,641
307 el2to| & 1,568,247 1,444,606 123,641
03 PIHNEE 22X 1,568,247 1,444,606 123,641
OXEMEX At 2el 1,568,247
HSXNEX 2e2l(013,2188) 80,000 80,000 0
Jl 22,470
= 57,530
307 212+01& 80,000 80,000 0
Il 22,470
=S 57,530
02 2IZHB A E & 80,000 80,000 0
Ok s=dldeM=sUz= 80,000
Jl 22,470
< 57,530
HEXEX 2el(0ls, Az2E ) 3,776,142 3,641,189 134,953
Il 2,900,016
= 876,126
308 AFAIEHMSOIE 3,776,142 3,641,189 134,953
7l 2,900,016
= 876,126
01 AXH B2 LS 3,776,142 3,641,189 134,953
OMENSA TN SSKIJAAS 3,776,142
Il 2,900,016
s 876,126
HS X X2l (KA AlZ2XE) 608,555 608,510 45
308 AXIHS0IA 608,555 608,510 45
01 HAHHBSEEXS 608,555 608,510 45
OdgN=sLz Il 24 130,050
OMEHSX =X ML 470,000
OXNEL &3 28l A& 8,505
NAAZZDSHE 2 (2T RH) 292,771 292,771
307 elzto| & 292,771 292,771
03 2N EE2SHIEx 292,771 292,771
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A MEdSW
33 SENSTE
ol ZoHedE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,770,624
=S 531,188
ZOHQ! MEHSXIEX A (AlZ/XEA) 280,148 280,148
308 AXIMSOIA 280,148 280,148
01 XN B2 LS 280,148 280,148
OAlZ H0He! HEMFAEA XL 280,148
ZoHe! MHQISHE 22 (2R EXR) 39,600 39,600
307 @12t0| & 39,600 39,600
03 YIZAHHEE 22X 39,600 39,600
Ol M=HISHE 29 39,600
SHHMLM=UE HEIX X 102,000 133,000 A31,000
308 AtXIEMSO0IE 102,000 133,000 A31,000
01 AXHNBEES 102,000 133,000 /31,000
OSEEMAM=U=2I JHEX X2 102,000
0 AX=AMOIED X2 A 608,806 322,320 286,486
) 539,448
< 69,358
308 AtAIEHMSOIE 608,806 322,320 286,486
Il 539,448
= 69,358
01 HAHHBSEXRS 608,806 322,320 286,486
OZ0H ERZUM0ISH XS A 608,806
Jl 539,448
= 69,358
ADRMA SH 3,000,000 2,000,000 1,000,000
AEX0DIE F&A 3,000,000 2,000,000 1,000,000
308 XXM SOIA 3,000,000 2,000,000 1,000,000
01 XN B2 LS 3,000,000 2,000,000 1,000,000
Osgor T2 T 3,000,000
H=gs & Ual 2l 2,450,000 1,715,000 735,000
=S 2,370,000
= 80,000
SEET BT ABH 29 120,000 120,000
307 @I2t01 & 120,000 120,000
02 LB MAHEE 120,000 120,000
OFEZE 2k AlgH 29 120,000
d=72 U=l Wzl N2 440,000 190,000 250,000
= 360,000
= 80,000
307 elztol & 120,000 40,000 80,000
04 CIZHHAMALRH 2 & 120,000 40,000 80,000
Oz OketElzl K& 40,000




SN HSESD
M SEMSEIS
el dEgs € el 2l EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od=WaA==H3] XIS 80,000
308 AIXIHHSOIA 320,000 150,000 170,000
= 240,000
= 80,000
01 MAHHBSEEXS 320,000 150,000 170,000
O3z dYHiotetEts X2 100,000
OUE moc=MLEEHA =S 50,000
OUlZ0tetE Tl X3 120,000
= 40,000
= 80,000
OfRgd 8= R4l =72 HAEE 20,000
Ot 8= =S8tu OF2UHal 20,000
Ofid2=tM J18 &= g4 ==U3 10,000
Hsgs 243 (A2) 1,369,000 484,000 885,000
308 XXM SOIH 1,357,000 484,000 873,000
01 XN BSELES 1,357,000 484,000 873,000
Od= M= 450,000
OM=iz € =218 § X 907,000
403 AXIEHMSAH=Z01d 12,000 12,000
01 MHXIHHA 222 12,000 12,000
OOIAL O E 2l cIS0kE XI& 12,000
H=2s gdsi(c) 521,000 921,000 A\400,000
307 elztol & 521,000 921,000 A400,000
02 2B A HE L 521,000 921,000 400,000
OFEEL LA AEXSY |4 521,000
H=IIEAE &E & X3 77,129,887 58,317,157 18,812,730
= 15,392,000
= 1,190,000
) 8,500,000
= 31,647,887
H 17,000,000
= 3,400,000
SHALIHE HE 4,500,000 12,636,440 A\8,136,440
[ 1,100,000
= 3,400,000
401 Al HIZL 201 4,500,000 12,636,440 8,136,440
= 1,100,000
= 3,400,000
01 Al&HI 3,458,340 12,011,440 /8,553,100
OSHAL=MEH 2HE 3,458,340
= 58,340
= 3,400,000

-
|




2A:

=

NS
X

M SEMSEIS
el MFIEAlE &5 & AIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Zeltl 1,041,660 625,000 416,660
OSHAZ=MEH 2HE 1,041,660
NSHSALXE (HEAI) 6,375,000 6,900,000 /525,000
403 MR HHMSAHE01H 6,375,000 6,900,000 /525,000
01 MHXIHH A 222 6,375,000 6,900,000 /525,000
OMsIEAIL HE 6,375,000
=AM 2E 5,700,000 9,600,000 A3,900,000
Jl 5,700,000
403 MR HHMSAHE01H 5,700,000 9,600,000 23,900,000
) 5,700,000
01 AR A =2 £ 5,700,000 9,600,000 A3,900,000
O=uHSHEH HE 5,700,000
Il 5,700,000
TEdEE A2 IUNSHH 1,190,000 6,000,000 /4,810,000
= 1,190,000
403 MR HHMSAHE01H 1,190,000 6,000,000 /4,810,000
[ 1,190,000
01 AR A =2 £ 1,190,000 6,000,000 /4,810,000
OArR ZeldeEd Ms2 1,190,000
= 1,190,000
SSHEAIE HES 1,500,000 936,000 564,000
Jl 1,500,000
403 MR HSAE01H 1,500,000 936,000 564,000
Il 1,500,000
01 XIS A =2 & 1,500,000 936,000 564,000
OSB3HMSAIE HE+ 1,500,000
Jl 1,500,000
H=AIE 2IMAIEER RS2 (BTL) (HEALY) 1,121,717 1,121,717
308 XtXIEMSO0IE 1,121,717 1,121,717
01 XN BELES 1,121,717 1,121,717
OHMSAIE JUE 2UXAZ(BTL) 1,121,717
COXNEAIE &E & B2 955,000 955,000
403 MR HHMSAHE01H 955,000 955,000
01 MHXIHH A =222 955,000 955,000
Ok M=sUal AMEEFEZ 855,000
Ok ZHe! MEUa A28 100,000
A2 HEHSAE ¥ B2 1,061,500 2,392,000 1,330,500
403 THXISHMSAH=01H 1,061,500 2,392,000 1,330,500
01 AR A =2 £ 1,061,500 2,392,000 21,330,500
OA+2 HENSAE B2 1,061,500
COEN MSAEXSH 90,000 126,000 236,000
403 AXIEHMSAH=0ld 90,000 126,000 236,000




A HSAIEW
M SEMSEIS
&2 MSFIIEtAIE &F 2 X3 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA=2 2L 90,000 126,000 /36,000
OHSAE X3 (Z2F0d) 90,000
3=y gAY 2,850,000 3,600,000 A750,000
308 AXIHS0IA 150,000 0 150,000
183 S| 2SS A AIE 150,000 0 150,000
omza=Ld &Mz S8 150,000
403 AXIEHMSAH=201H 2,700,000 3,600,000 900,000
01 AR A =2 £ 2,700,000 3,600,000 A900,000
Oonza="d xdArd 2,700,000
ENEEME (MEAY) 12,465,000 14,050,000 A1,585,000
403 XM SAH=01H 12,465,000 14,050,000 1,585,000
01 AR A =2 £ 12,465,000 14,050,000 1,585,000
Olstel= =SadlE MSHSAIE &8
Ared 7,710,000
O=F73ay dUMs2 HE 4,755,000
027 SF SHAMAILEZ DI U= K& 38,011,670 0 38,011,670
= 15,392,000
= 5,619,670
H 17,000,000
201 er2&y| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
02027 SHHMAICSIZ DG Z01E =4 &t
=29 29 20,000
306 EH= 515,000 515,000
01 9= 515,000 515,000
Q2027 SHAIMAHCHE AT =22 2A3] (2024
E 2494|) 43 515,000
401 AlEHIZ S 0HbI 31,106,670 0 31,106,670
= 12,452,000
< 1,664,670
H 17,000,000
01 Al&H| 30,056,670 0 30,056,670
Q2027 StAMALIEEIIUE FI1E =4 30,066,670
= 12,137,000
< 919,670
H 17,000,000
02 Zeltl 1,000,000 0 1,000,000
Q2027 StAMALIEEI IS FI1E =4 1,000,000
= 300,000
< 700,000
03 AlZ = THHI 50,000 0 50,000
O2027 StAIMAIU S ZBIIU= BIE &4 50,000
= 15,000




A HsdSH
X

M SEMSEIS
el MFIEAlE &5 & AIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 35,000
403 AXIEHMSAH=201H 6,370,000 0 6,370,000
= 2,940,000
= 3,430,000
01 AXISHHA2EE 6,370,000 0 6,370,000
O2027 StAIMIAI S ZI Ul 21 =4 6,370,000
= 2,940,000
=S 3,430,000
JlzdENHEARE 300,000 0 300,000
) 300,000
403 TR SHMSAH=01H 300,000 0 300,000
Jl 300,000
01 A= E2XE 300,000 0 300,000
OKNE ESZVIE AEHEA 300,000
Il 300,000
SETE IIa=2d 24 1,010,000 0 1,010,000
) 1,000,000
= 10,000
201 fer= 3| 10,000 0 10,000
01 At 2|l 10,000 0 10,000
OsskE =2 =2 23 10,000
401 Al HIZL S 0HYI 1,000,000 0 1,000,000
Jl 1,000,000
01 AlZ2H| 1,000,000 0 1,000,000
Osgkd IIa=2d X4 1,000,000
Il 1,000,000
daHs 2 320,000 320,000 0
Jl 320,000
=2UX=100 M=l SHEH 320,000 320,000 0
Il 320,000
308 AtXIEHMSOIE 320,000 320,000 0
Il 320,000
01 XN B2 LS 320,000 320,000 0
O=CHMH100 H=HASHE 320,000
Il 320,000
Hegs(H=sEs) 520,000 0 520,000
SHENE(HSEED) 520,000 0 520,000
KSOHLI|S oIt (SIGARZ=ME AE) 520,000 0 520,000
705 O~ 2SS 520,000 0 520,000
04 Al - SXISHE D= 0+== 01 ktat et 520,000 0 520,000
OXISIHLIIZ Ol SH(SEALILH
2A8) 520,000
BH2IZHI(HMFTSL) 60,840 52,200 8,640
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